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AT BER A& £ F ¥ fE (ppm)

g [ ot g | ERoo e | ERos e | ERoasm e | Emos e | ERoe e | R 27 e | E 28 R | 20 R | ERiz0E RE

£ R #|= BlE 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000
& R W& ®m &|E 0.001 0.001 0.002 0.001 0.001 0.002 0.001 0.001 0.001 0.001
£ R w3 BHE 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
£ R mld = ES 0.001 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001
t E m|t Bl 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.000
t E m|EE & B|X 0.000 0.000 0.000
t E W&/ 4 RES 0.002 0.002 0.004 0.003 0.002 0.002 0.003 0.003 0.003 0.003
N W Tl W|ET 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.000 0.000 0.000
W B T Z1ES 0.000
mE WK B FE 0.001 0.000 0.001
B W F]E 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001
B W M= JIR 0.001 0.001
R L|E 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001

(2 ZEBEmE (1 HEHEDER 2 %EIME) GRIBEA . 0.04ppmLlF)

- AES Ry 1B EHEDFERI2%RIME (ppm)

g [ ot e | T2 e | ERos s e | ERoasm e | Eos e | ERoe e | R 27 rE | R o8 e | 20 R | E B0 RE

€ R m|= BlE 0.004 0.004 0.002 0.002 0.003 0.002 0.002 0.001 0.002
€ R Wl m B|E 0.005 0.005 0.005 0.004 0.006 0.009 0.008 0.006 0.009 0.006
& R W/ I BH|E 0.005 0.005 0.004 0.004 0.004 0.003 0.003 0.003 0.003 0.003
& R mlidt EBE 0.004 0.004 0.006 0.004 0.005 0.004 0.003 0.003 0.003 0.003
t E Wt ElE 0.002 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002
t E mlkE & B|X 0.002 0.002 0.002
t E W&/ e RES 0.014 0.016 0.026 0.022 0.014 0.013 0.022 0.025 0.021 0.023
R VNG P WET 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001
W 5 T Bl* 0.001
mEH B OFME 0.002 0.002 0.002
B W F|E 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.001 0.002 0.002
B W M= I ES 0.004 0.003
BE = ™R Ll 0.004 0.003 0.003 0.002 0.003 0.003 0.002 0.002 0.002 0.002




Q) ZFEEFR (FFI9fE)

AT BER A& £ F ¥ {E (ppm)
g [ ot g | ERoo s e | ERos e | ERoasm e | ERos e | ERoe e | R 27 e | R 28 R | 20 R | ERiB0E RE

€ R #|= BlE 0.007 0.007 0.006 0.006 0.006 0.005 0.005 0.004 0.005
& R W& ®m &|E 0.010 0.010 0.010 0.010 0.010 0.009 0.008 0.008 0.009 0.007
£ R w3 BHME 0.007 0.007 0.006 0.006 0.006 0.006 0.006 0.005 0.005 0.005
£ R |+ B3 (S 0.009 0.009 0.008 0.008 0.007 0.007 0.006 0.006 0.006 0.005
£ R &R Fiic] RES 0.011 0.011 0.010 0.009 0.009 0.009 0.008 0.008 0.007 0.007
£ R m|#& = ES 0.009 0.009 0.008 0.008 0.008 0.009 0.007 0.007 0.007 0.006
£ R mld = ES 0.007 0.006 0.005 0.004 0.005 0.006 0.006 0.005 0.005 0.005
t E Wt Bl 0.006 0.005 0.005 0.005 0.005 0.005 0.004 0.004 0.004 0.003
t E m|EE & B|X 0.002 0.002 0.002
t E W|&/ 4 RES 0.004 0.004 0.004 0.003 0.003 0.003 0.003 0.003 0.003 0.002
R VNG P W|ET 0.008 0.007 0.008 0.006 0.006 0.006 0.006 0.005 0.006 0.005
W B T Z1ES 0.001
mE WK B FE 0.010 0.010 0.009 0.009 0.008 0.007 0.007 0.005 0.006 0.006
oI PP K| 0.004 0.004 0.004 0.003 0.003 0.004 0.003 0.003 0.003 0.002
B W MWl Bl*x 0.005 0.005 0.005 0.004 0.004 0.004 0.004 0.004
B W F]E 0.009 0.009 0.008 0.008 0.007 0.007 0.007 0.006 0.005 0.005
B W M= JIR 0.008 0.008
BE £ ™R LlE 0.008 0.008 0.008 0.007 0.006 0.007 0.006 0.005 0.006 0.005
2 OE ETE & 1E 0.007 0.006 0.006 0.006 0.005 0.005 0.005 0.004 0.004 0.004
N # BTN HE 0.008 0.008 0.007 0.007 0.007 0.007 0.006 0.005 0.006 0.005
o BE B BT (R BlX 0.002 0.002 0.002

4) —EBiE=EFR (1 BEMEDFEFISWIE) (GRIBEAE - 0. 04ppm~0. 06ppmLL )

- AR Big 1B FHEDERI8%IE (ppm)

ik | R0t e | T2 4 B | ERi2s R | ERioate s | ERios R | ERi2e | Rl | TRi2sE | ERi20E | TR0 RE

€ R Mm|= BlE 0.014 0.015 0.014 0.014 0.013 0.010 0.010 0.009 0.011
& R Wm|&E m EH|E 0.022 0.027 0.022 0.020 0.021 0.021 0.018 0.017 0.021 0.015
& R W/ I BH|E 0.014 0.016 0.016 0.015 0.013 0.014 0.013 0.011 0.012 0.012
& R M| R=iE 0.018 0.019 0.017 0.016 0.016 0.016 0.014 0.013 0.014 0.011
& R ™8R Fic] (£ 0.022 0.024 0.020 0.020 0.017 0.018 0.017 0.015 0.016 0.013
& R mW|&E EBE 0.022 0.024 0.023 0.023 0.020 0.022 0.019 0.017 0.019 0.015
& R m|idt EB|E 0.016 0.015 0.009 0.008 0.013 0.013 0.012 0.010 0.012 0.009
t E Wt ElE 0.014 0.013 0.012 0.012 0.012 0.011 0.009 0.010 0.009 0.008
t E mlkE & B|X 0.004 0.005 0.004
t E W&/ e RES 0.009 0.010 0.009 0.009 0.008 0.008 0.006 0.007 0.007 0.006
N ¥ T W|ET 0.017 0.019 0.019 0.014 0.012 0.015 0.013 0.012 0.015 0.010
W 5 | Bl* 0.003
m B WK B OFHE 0.020 0.020 0.018 0.017 0.015 0.016 0.016 0.011 0.017 0.012
B MmN | 0.008 0.008 0.008 0.007 0.008 0.009 0.006 0.006 0.006 0.005
=TT+ 1] B|x 0.012 0.011 0.012 0.010 0.010 0.008 0.010 0.007
=TT 1 PN Z1E 0.019 0.021 0.019 0.018 0.015 0.022 0.015 0.013 0.013 0.011
B W mE I ES 0.017 0.027
BE £ MR LlE 0.018 0.019 0.017 0.015 0.015 0.016 0.015 0.011 0.016 0.011
g ETE & |1E 0.015 0.014 0.012 0.012 0.012 0.014 0.010 0.010 0.010 0.008
N # BTN M 0.020 0.021 0.018 0.018 0.017 0.019 0.015 0.015 0.015 0.012
o BE B BT (R S1ES 0.005 0.005 0.005




6 —FEEFR (FFI91fE)

AT BER & £ F ¥ {E (ppm)
g [ ot g | ERoo s e | ERos e | ERoasm e | ERos e | ERoe e | R 27 e | R 28 R | 20 R | ERiB0E RE

€ R #|= Blx 0.001 0.001 0.001 0.001 0.001 0.000 0.000 0.000 0.000
& R W& ®m &|E 0.005 0.004 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.001
& R W[/ I F|E 0.001 0.001 0.002 0.003 0.002 0.001 0.001 0.001 0.001 0.001
€ R fi|$ R=|E 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001
£ R #|8R [iic] [E 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001
€ R & ER[1E 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.001
€ R wildt ER[1E 0.002 0.002 0.001 0.001 0.001 0.002 0.002 0.001 0.001 0.001
t E ™|t BlE 0.003 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
t E m|EE & B|X 0.000 0.000 0.000
t E WA 5 [ 0.001 0.001 0.001 0.001 0.001 0.001 0.000 0.001 0.001 0.001
AN 1 W|ET 0.002 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001 0.001
W B ™| Z1ES 0.000
mE WK B FE 0.005 0.005 0.004 0.003 0.003 0.003 0.003 0.002 0.002 0.002
B ¥E mH | 0.000 0.000 0.000 0.000 0.000 0.001 0.000 0.000 0.000 0.000
B W b I=1ES 0.001 0.001 0.002 0.001 0.001 0.001 0.001 0.001
B W F|1E 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.001 0.001 0.001
B W E I ES 0.002 0.001
BE £ ™R L|E 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.002 0.001
2 OE ETE 1|1 0.001 0.001 0.001 0.002 0.001 0.001 0.001 0.001 0.001 0.001
N BTN #ME 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001 0.001
o BE B BT (R BlX 0.000 0.000 0.000

(6) ZHREEILY (FFHIE)

HET S =273 F T ¥ fE (bpm)

el | ot 4 e | TRio2 4 e | T rios i | FErkoate e | Erkos s e | E k264 | FR274E B | ERi284F B | FRi204F B | FAES0ERE

€ R Mm|= BlE 0.008 0.007 0.007 0.007 0.006 0.006 0.005 0.005 0.005
€« R m|@E @ EW|E 0.015 0.014 0.013 0.013 0.013 0.012 0.011 0.010 0.011 0.008
€ R Wb I FH|E 0.008 0.008 0.008 0.009 0.008 0.008 0.007 0.007 0.006 0.005
€ R ™% R=iE 0.010 0.010 0.009 0.008 0.008 0.008 0.007 0.006 0.006 0.006
% R m|8R Fic] (£ 0.013 0.013 0.012 0.011 0.010 0.010 0.009 0.009 0.008 0.008
% R m|&E EBE 0.011 0.011 0.010 0.010 0.010 0.010 0.009 0.008 0.008 0.007
% R ™|t EB|E 0.009 0.008 0.006 0.005 0.007 0.008 0.007 0.006 0.006 0.005
t B |t ElE 0.009 0.007 0.007 0.006 0.006 0.006 0.005 0.005 0.005 0.004
t E mlkE & B|X 0.002 0.002 0.002
t B WA e RES 0.004 0.005 0.004 0.004 0.004 0.004 0.003 0.003 0.003 0.003
AN N 1 W|ET 0.009 0.009 0.009 0.007 0.006 0.007 0.007 0.007 0.007 0.006
W 5 | Blx 0.002
m B WK B OFHE 0.016 0.015 0.013 0.012 0.011 0.010 0.009 0.006 0.008 0.007
B e A M| 0.004 0.004 0.004 0.004 0.004 0.005 0.003 0.003 0.003 0.003
=TT+ 1] =1ES 0.006 0.006 0.007 0.005 0.005 0.005 0.005 0.004
B o Z1E 0.012 0.012 0.011 0.010 0.008 0.009 0.008 0.007 0.006 0.006
B W mE M ES 0.009 0.010
BE % TR L|E 0.010 0.009 0.010 0.008 0.008 0.009 0.008 0.007 0.007 0.006
g ETE & [1E 0.008 0.008 0.007 0.007 0.007 0.006 0.006 0.005 0.005 0.005
M # RN M 0.009 0.009 0.009 0.008 0.008 0.008 0.007 0.006 0.006 0.006
e EET (R =1ES 0.002 0.003 0.003




(1) —EBfbRE (FEHIE)

AT BER A& £ E 15 {E (ppm)
Moigh | o1 | Trio e | Erosar | Erosmr | Erose | Eroea | TRora | TRosErE| TR2oErE| Tas0EE
£ R = ElE 0.2 0.2 0.2 0.2 0.2 0.1 0.1 0.2 0.1
+ B |t Bl 0.1
SR e JE3 L 0.2 0.2
8) —mbixFE (1 HEHIEDER 2 %ERIME) (GRIBEZE . 10ppmLl F)
AT BER A& 1B EHEDERI2%BRIME (ppm)
Moigh | o | Trio e | Trs e | Emosmr | Erose | roea | TRorE | TRosErE| TR2oErE| Tas0EE
£ R = HIE 0.4 0.4 0.4 0.4 05 0.3 0.3 0.4 0.3
+ B |t Bl 0.4
=HTGH EN |1 0.4 0.4
9) HEZAXISF L+ (BRED 1 BEEEDFFYE)
T BER A% BREIOIBBEDEFHIE (ppm)
gt | o1 | Trioe | Trosak | Erouar | Erose k| Troea | TrorE | TRosE | TRooErE| EasoEE
£ R = ElE 0.037 0.037 0.032 0.033 0.032 0.031 0.044 0.040 0.041
& R W@ m SE 0.036 0.037 0.034 0.036 0.035 0.039 0.037 0.036 0.041 0.040
& R W 2 BlE 0.035 0.036 0.036 0.041 0.041 0.039 0.044 0.039 0.041 0.035
& R |h Rl 0.038 0.039 0.036 0.038 0.038 0.038 0.037 0.038 0.038 0.038
& R &R Fic] (3 0.036 0.036 0.034 0.038 0.039 0.041 0.042 0.041 0.042 0.037
& iR | |1 0.040 0.036 0.038 0.043 0.043 0.042 0.041 0.042 0.045 0.041
& R w4 |1 0.040 0.039 0.037 0.038 0.032 0.041 0.045 0.043 0.042 0.040
+ B |t =113 0.038 0.037 0.036 0.039 0.041 0.038 0.040 0.038 0.040 0.037
+ B X 2] ES 0.042 0.041
+t B d|B B E 0.037 0.035
+ B wilee & BlXx 0.038 0.040 0.035
WA 7 N 0.038 0.036 0.032 0.034 0.029 0.038 0.042 0.043 0.040 0.038
B ™| B|x 0.039
m B mK OB OF[E 0.033 0.032 0.030 0.031 0.031 0.030 0.037 0.036 0.035 0.032
¥ R Ve 7S 0.044 0.041 0.037 0.040 0.033 0.038 0.039 0.037 0.039 0.039
B W | Bl% 0.037 0.037 0.036 0.034 0.031 0.041 0.041 0.038 0.041 0.038
ST E |1 0.041 0.038 0.035 0.038 0.037 0.036 0.037 0.037 0.039 0.039
SR ES JIIES 0.037 0.039
B % |4 i [ 0.039 0.036 0.034 0.032 0.032 0.040 0.043 0.042 0.039 0.037
2 1% ET[iE 8|1 0.040 0.035 0.033 0.037 0.037 0.037 0.040 0.041 0.037 0.036
n o ET(A #(x 0.042 0.039 0.036 0.039 0.040 0.036 0.039 0.038 0.038 0.039
e B ET| B SIES 0.041 0.041 0.040 0.043 0.041 0.038 0.038 0.036 0.040 0.036
(10) HEEAXIA L+ (BREOBRS 1 BEEDEFHIE)
HET S =5 BREOH &S 1HEEOEFYE (ppm)
el | piot 4 e | TRro2 4 e | oot i | Erkoate i | Erkost i | Eroes | FR274 | FR284E E | FR294F B | FRRS0ERE
£ R = ElE 0.047 0.047 0.041 0.042 0.041 0.039 0.053 0.050 0.050
& R W@ m wW|E 0.048 0.049 0.046 0.047 0.044 0.051 0.048 0.047 0.052 0.051
& R W I BlE 0.045 0.047 0.047 0.052 0.051 0.049 0.054 0.048 0.050 0.045
& R |$ Rl 0.051 0.051 0.048 0.050 0.050 0.049 0.048 0.048 0.049 0.049
£ R | Fic) (3 0.048 0.047 0.045 0.048 0.049 0.051 0.052 0.051 0.052 0.047
& R h|fE B|1E 0.053 0.048 0.050 0.054 0.054 0.053 0.052 0.052 0.056 0.052
& R Wi 3|4 0.052 0.050 0.048 0.049 0.041 0.052 0.055 0.053 0.052 0.051
+ B |t Bl 0.049 0.047 0.045 0.050 0.052 0.049 0.050 0.047 0.049 0.048
+ B X 2] ES 0.053 0.051
+ B d|B B E 0.048 0.046
+ B wlee & Blx 0.047 0.051 0.045
N 1 I N 0.049 0.048 0.042 0.044 0.037 0.050 0.053 0.053 0.051 0.049
W S | I=1ES 0.047
moE HK B OFH[E 0.046 0.045 0.042 0.043 0.042 0.041 0.050 0.049 0.047 0.045
Do PP ¥e|7a 0.054 0.051 0.045 0.050 0.041 0.047 0.048 0.045 0.048 0.048
(=IITR 1T Bl*x 0.048 0.048 0.047 0.044 0.040 0.051 0.052 0.048 0.051 0.048
B T |1 0.053 0.049 0.046 0.049 0.048 0.046 0.047 0.047 0.048 0.049
B W T ITES 0.048 0.051
B %= W[ | 0.051 0.047 0.045 0.041 0.041 0.052 0.054 0.052 0.050 0.048
2 1% ET|iE & |1 0.054 0.047 0.044 0.048 0.049 0.049 0.051 0.052 0.048 0.047
Mo TR #|1x 0.055 0.052 0.047 0.051 0.051 0.047 0.049 0.048 0.049 0.050
e B ET| B HES 0.051 0.051 0.049 0.053 0.051 0.047 0.047 0.045 0.049 0.045




(1) He2AFH22 b (RED 1EMFEAH0. 120pmil £ D HH)

HET AES RE BEID1EREA0.1200mL EDO B (B)
sl | ot | TRroo B | oot i | Ertoate i | ErtosE i | Eo64 | TR274E B | TR264E B | TR29E B | TARs0E

& R Wm|= & 0 0 0 0 0 0 0 0 0
& R m(@E B H|E 0 0 0 0 0 0 0 0 0 0
& R Wb I F|E 0 0 0 0 0 0 0 0 0 0
& R m|$ 2|E 0 0 0 0 0 0 0 0 0 0
& iR [&R [i7] (£ 0 0 0 0 0 0 0 0 1 0
& R |#&E i1 [ 0 0 0 0 0 0 0 0 1 0
& iR it i1 [ 0 0 0 0 0 0 0 0 0 0
t E |t == E 0 0 0 0 0 0 0 0 0 0
t B WX 23] E-S 0 0
t E WA & E[X 0 0
t B fhilgE & B[X 0 0 0
AN /N1 P W|ET 0 0 0 0 0 0 0 0 0 0
W 5 T S4B S 0
mE WK E FME 0 0 0 0 0 0 0 0 0 0
PRI PP M| 7 0 0 0 0 0 0 0 0 0 0
=TV 1] S4B S 0 0 0 0 0 0 0 0 0 0
B W =3 [E 0 0 0 0 0 0 0 0 0 0
B W M ES 0 0
He % TR EE 0 0 0 0 0 0 0 0 0 0
b= = & |1 0 0 0 0 0 0 0 0 0 0
N # RN #|E 0 0 0 0 0 0 0 0 0 0
P RE B HT| R S1ES 0 0 0 0 0 0 0 0 0 0

(12) KEZAFIF+ OHEBEEDHRSEDFMI/A—tF 1 )L{E)

T BER Jz:Pod SEFHIED H RS BN EMII/ \—t 2 ILIE (ppm)

gl | ot e | T2 | TR23 | kst i | Erros i | Erroe | Tv27 | TRos | TRro0E | FRrs0EE

® R W= BME 0.088 0.084 0.077 0.076 0.074 0.076 0.088 0.075 0.093
& R W@ m WME 0.081 0.075 0.083 0.076 0.074 0.087 0.083 0.071 0.088 0.084
& R Wl I B|E 0.087 0.075 0.079 0.081 0.081 0.080 0.087 0.076 0.092 0.074
= R |+ R|E 0.086 0.078 0.082 0.081 0.077 0.085 0.082 0.071 0.087 0.080
® R (&R Fiz) LES 0.081 0.075 0.076 0.075 0.078 0.082 0.082 0.072 0.090 0.076
€ R W@ =i RES 0.087 0.074 0.085 0.080 0.082 0.087 0.084 0.076 0.090 0.082
€ R il =i RES 0.088 0.072 0.082 0.080 0.066 0.084 0.088 0.075 0.091 0.083
t B |t =1 LS 0.086 0.079 0.076 0.075 0.083 0.081 0.087 0.072 0.096 0.077
t B WX 22 E-S 0.095 0.080
t B WA &% & 0.088 0.081
t B fhilgE & B[X 0.089 0.080 0.076
AN /NG 1 P W|ET 0.084 0.082 0.078 0.076 0.072 0.085 0.086 0.081 0.090 0.077
W 5 TR E1ES 0.080
B WK B OFE 0.083 0.074 0.071 0.073 0.077 0.077 0.079 0.074 0.084 0.074
BRI PP V|7 0.094 0.080 0.074 0.074 0.078 0.078 0.080 0.067 0.082 0.078
B W ol E1ES 0.088 0.086 0.084 0.077 0.073 0.089 0.088 0.070 0.088 0.078
B W ok F|1E 0.088 0.078 0.077 0.076 0.074 0.081 0.080 0.069 0.082 0.077
B W E ES 0.085 0.077
He % TR LE 0.086 0.078 0.076 0.075 0.071 0.083 0.085 0.076 0.080 0.075
b= b L] LES 0.091 0.081 0.078 0.081 0.078 0.083 0.090 0.076 0.088 0.075
m o ET|N #|1E 0.092 0.082 0.079 0.077 0.077 0.085 0.079 0.070 0.082 0.077
FRE B ET| R S1ES 0.091 0.078 0.084 0.080 0.078 0.079 0.083 0.068 0.086 0.074




(13) fk2AFIF b CHRMEDHESEDEMII—t 2 4 ILEDIFEFEY)

— AT B 8BS ED B &= E D F M99/ 3 —t 24/ JLIE (ppm)
Mgk (Epg19~ [FER20~ [FER21~ [FRi22~ |FHi23~ |FRi24a~ [FEmi25~ [FEm26~ [FEm27~ [FEm28~
1EE 2FEE 23FEE 20FEE 25FE 264 E 21 E 285 20 E 30FEE
& R W= HE 0.083 0084 | 0083 0.079 0.076 0.075 0.079 0080 0085
& R W|E @ #E 0.081 0.078 0080 | 0078 0.078 0.079 0.081 0080 | 0.081 0.081
£ R Wl 2 HBlE 0.080 0.079 0080 | 0078 0080 | 0.081 0.083 0.081 0.085 0.081
& R [ e[ 0.083 0.082 0.082 0080 | 0080| 0081 0.081 0.079 0.080 0.079
% iR |&R Fic] £ 0.079 0.077 0.077 0.075 0.076 0.078 0.081 0.079 0.081 0.079
& R ™A 5[ 0.087 0.083 0.082 0080 | 0082 0.083 0084 | 0082 0.083 0.083
& R it 5[ 0.082 0.078 0.081 0.078 0.076 0.077 0.079 0.082 0.085 0.083
+ B |t El& 0084 | o0084| o0080| 0077 0.078 0080 | o0084| 0080 0085 0.082
+ B K ] ES 0.088 0.086
+ B W|E B E 0.082 0.085
+ B e B B[k 0.085 0.082 0.082
VN 7 || 0083 0.083 0.081 0.079 0.075 0.078 0.081 0084 | 0086 0.083
t B ™| I=1ES 0.080%
moE WA OB oFE 0.077 0.076 0.076 0.073 0074| 0076 0.078 0.077 0.079 0.077
o I B | 0.087 0.087 0.083 0.076 0.075 0.077 0.079 0.075 0.076 0.076
B W | E1ES 0.082 0.085 0.086 0.082 0.078 0080 | 0083 0.082 0.082 0.079
ST HEN red =3 0.085 0.082 0.081 0.077 0.076 0.077 0.078 0.077 0.077 0.076
SR AES ES 0.083 0.080
B % R ElE 0.081 0.082 0080 | 0076 0074| 0076 0080 | 0.081 0.080 0.077
b= Oy 8|1 0084 | 0083 0.083 0080 | 0.079 0.081 0084 | 0.083 0.085 0.080
Mo BT | 0.085 0.087 0084 | 0079 0.078 0080 | o0080| 0078 0.077 0.076
A BT EES 0.091 0.085 0084 | 0081 0.081 0.079 0080 | 0077 0.079 0.076
X EHERIIHIEEIVAEDNT-O ., BEETOEHELHTLNS
(14) FHEMFRYE (EFHE)
wor | mem |2 L M B A
WIS [ o1 & g | ERioo s | ERosE e | ER2a s | ERiosa | Emoe e | FRi2r | EriostE | Moo E | FRis0s &
& R W= HEE 0.016 0.016 0.015 0.016 0.016 0.015 0014 0013 0.011
& R WlE B w6 0017 0017 0017 0017 0.018 0017 0.016 0014| 0013 0013
& R m|lh L BE 0017 0.016 0014| o0014| o0014| 0014| o016 0014| 0013 0013
& R Wit 5|1 0018 0.018 0.016 0.019 0.019 0017 0.015 0.012 0.011 0012
+ B |t =[S 0.016 0018 0.016 0017 0.016 0.015 0.016 0014| 0013 0014
+ B K ] ES 0015 0017 0.019 0.019 0020 0019 0.019 0017 0017 0016
+ B W|E B E[* 0015 0.016 0.016 0.016 0017 0.015 0.015 0014 | 0014 0014
+ B W|aE B B[k 0.015 0.016 0015 0.015 0.016 0014| 0016 0013 0013 0013
+ B W&\ =113 0.019 0.019 0.022 0020 0.019 0.017 0.016 0018 0.016 0.016
VNN 7 Y wl#ET | 0016 0017 0.016 0.015 0015 0014| 0015 0013 0013 0014
B ™| B|x 0.011
mE WK B FMa 0.016 0.016 0.016 0018 0018 0.016 0.016 0014 | 0014 0014
eI B vE| 0.016 0018 0017 0.016 0017 0.015 0.015 0.015 0.014 0.015
SR T Bl* 0.016 0017 0.015 0.016 0017 0.016 0.016 0.015 0.012 0012
ST EN Z[ 0.016 0.016 0.016 0.016 0017 0.016 0.015 0013 0013 0013
SRITGHES ES 0017 0018 0017 0017 0.019 0018 0.017 0.015 0.014 0014
8 = ™| ElE 0017 0017 0.016 0.016 0.016 0.015 0.016 0014 | 0014 0014
b= Oy & [ 0017 0018 0018 0017 0018 0.017 0.017 0.016 0.015 0014
Mo AT | 0018 0.019 0018 0.017 0018 0.017 0.016 0.015 0.014 0013
A B AT Bl* 0.016 0.016 0.015




(15) FEHFRYE (1 BFEYEDER 2 %kRiME)

(EEE%E . 0. 10mg/m’LLF)

- AR A& 1B EHEDER2%BRIME (mg/m3)
Sl kot | ko2 B | Erios i | Ertoate i | Eakos i | Emoem | Taova | Eaosa | TaooE | Tas0EE

£ R Ww|= Elx 0.039 0.047 0.036 0.043 0.059 0.040 0.039 0.033 0.030
& R W@ m W|E 0.043 0.048 0.040 0.043 0.056 0.042 0.042 0.034 0.034 0.032
% R | i BE 0.040 0.047 0.036 0.043 0.051 0.040 0.042 0.032 0.033 0.036
% R | ] [ 0.042 0.052 0.035 0.048 0.059 0.043 0.045 0.032 0.033 0.033
+ B |t Bl 0.039 0.054 0.037 0.045 0.058 0.045 0.048 0.034 0.032 0.034
+ B X H|% 0.041 0.046 0.049 0.048 0.063 0.051 0.051 0.039 0.042 0.039
+ B W|E & E[x 0.037 0.052 0.040 0.043 0.063 0.043 0.049 0.033 0.037 0.036
+ B Wlee & B|X 0.039 0.051 0.040 0.042 0.063 0.047 0.047 0.028 0.029 0.032
+ B W|\ 1 [ 0.048 0.061 0.079 0.060 0.065 0.053 0.054 0.063 0.055 0.076
IR T[N mlET 0.041 0.050 0.041 0.042 0.056 0.038 0.043 0.029 0.030 0.033
o B | B|% 0.036
moE WK B oF|E 0.039 0.052 0.037 0.051 0.062 0.043 0.043 0.031 0.031 0.034
¥ R iq[z] 0.040 0.054 0.041 0.045 0.060 0.043 0.044 0.032 0.036 0.038
B W W Bl* 0.037 0.047 0.036 0.043 0.054 0.041 0.039 0.034 0.031 0.033
B W = [ 0.039 0.047 0.037 0.044 0.057 0.042 0.040 0.030 0.030 0.031
=TI ES IES 0.038 0.055 0.043 0.046 0.062 0.044 0.047 0.035 0.040 0.034
B X m[E = [ 0.038 0.049 0.037 0.044 0.055 0.040 0.044 0.029 0.035 0.033
b= f 1 [ 0.040 0.048 0.040 0.047 0.057 0.043 0.047 0.034 0.038 0.038
M # BT #|E 0.041 0.057 0.041 0.045 0.061 0.045 0.045 0.037 0.039 0.033
e S ET| B B|% 0.041 0.052 0.036

(16) MM FIRME (EFE) (BEE%E  15ug/mMUT)

HET S A& £ F ¥ B (ug/md)

sl | ot 4 e | T Rio2 4 e | T rios i | Ertoate i | Erkos s e | E k264 | FR274E B | ERi284F B | FRi204F B | FAES0E B

£ R W@ @ #|E 13.1 12.4 10.9 9.8 9.3 9.4
£ R | I BlE 10.1 7.2 6.8 6.6
& R W& B [E 9.8 7.2 6.6 6.6
£ R W@ Ei] [ 115 10.6 9.0 8.6 8.7
£ R |t Ei] [ 1.3 105 8.8 85 8.9
+ B |t BlE 13.2 135 15.1 134 125 11.0 10.4 1.1
N R T[S wm|#ET 125 13.6 114 10.8 96 9.3 9.0
W B | B|* 11.2 10.8 9.7 7.4 7.2 7.2
BN % Pl ES 9.9 95 6.8 6.8 7.3
B WK B OFHE 12.7 12.2 114 8.0 79 8.3
¥ R ¥e|78 13.1 13.0 11.6 8.6 8.4 8.4
B W | 1% 1.3 119 11.6 134 1.3 12.0 10.6 10.2 9.8
b= = f b= &1 10.0 10.1 79 7.4 75
N ¥ BTN #|E 10.5 10.6 7.6 7.6 75

an whiiFRYME (1 BFIEDFRHI8%IE)

(BIER# - 35ug/mLLT)

- AT B 1HEHBEDERIB% (1 g/m3)
i | ot i | ERio2 s i | ERi2s i | ERioase i | ERios | ERieE | TR £ | TRi2sE | TRi2oE | TR0

& R W@ m SME 35.7 30.4 28.4 228 2338 25.4
£ R W I BME 274 17.8 18.3 21.0
£ R H|E 26.8 18.2 17.8 214
& R T|f |4 296 274 235 225 25.5
£ R Wi |4 313 288 23.9 239 26.5
+ B #|t El& 315 316 384 39.0 338 26.5 30.3 29.9
WA 7 N 353 387 330 26.8 218 23.9 29.4
R B|% 343 318 273 18.1 205 222
BN (B BUES 26.3 295 19.1 216 220
mE mK OE FE 376 31.2 29.9 18.5 203 23.8
B PR vE| 7 384 342 305 19.8 214 240
B e L 372 305 33.1 3838 30.0 298 243 26.4 28.6
b=l &1 25.3 288 18.5 19.2 22.6
Mmoo BT #|1E 26.9 29.1 20.4 20.8 21.9

(18) FEA 2 UiribKkFE (EFHHE)

T TR =P £ E ¥ fE (ppmC)

il | o1 4 | ERio2 4 B | E A2t | ERtoatE i | ERios i | ERio6 i | E k274 B | E A28 R | E R0 B | ERI30ERE

£ R = ElE 0.10 0.08 0.09 0.09 0.07 0.07 0.11 0.12 0.08
+ B Wt Bl 0.04 0.03
+ B X =] ES 0.07 0.08 0.08 0.07 0.08 0.09 0.06 0.06
W/ 7 N 0.16 0.11
W B T I=1ES 0.12
B |1 0.16 0.10
Mmoo AT [ 0.07 0.07 0.05 0.05 0.05 0.05 0.07 0.04 0.07 0.07




(19) EA% UimibkFR (6~IRFICH T D EFHE)

AT BER & 6~9BF(ZH 1T BFEFE (ppmC)
ik | o1 4 | ERi22 4 B | ERi23 B | ERioatE i | ERtos i | ERio6 i | ERt27 4 B | E A28 R | E R0t B | FRI30ERE
€ R #|= Blx 0.11 0.09 0.09 0.09 0.08 0.07 0.12 0.12 0.09
t E |t Bl 0.05 0.04
t B Mm|X H|% 0.07 0.08 0.08 0.07 0.08 0.09 0.06 0.07
AN 1 N W|ET 0.20 0.11
W B ™| B|* 0.12
B W F|4E 0.16 0.10
N BTN 1 0.08 0.08 0.06 0.06 0.06 0.07 0.09 0.06 0.08 0.09
(200 A2 > (FFEHIE)
—u | mes |FE A )
ik | o1 4 | ERio2 4 B | ERt2s B | ERioate i | FRios B | ERi2e | Rl E | TRi2sE | FRi20E | TR0 R
€ R m|= Bx 1.94 1.94 1.99 1.98 1.95 1.97 1.99 2.01 2.05
t E m|t ElE 1.93 1.93
£ B Mm|X H|% 1.85 1.86 1.85 1.87 1.90 1.89 1.90 1.93
AN 1 W|ET 1.97 1.96
W B ™| B|* 1.94
B W E|4E 1.94 1.94
N BTN HE 1.90 1.90 1.91 1.92 1.92 1.93 1.93 1.95 1.97 1.98
(21) £iribKE (FFEHIE)
T axm |BE £ F ¥ fE (ppmC)
sl | ot 4 e | TRio2 4 e | Frios i | Erkoate i | Erkos s e | Erkoe4 | FR274 e | ERi284F e | FRi294F B | FARS0ERE
€ R Mm|= BE 2.04 2.02 2.08 2.07 2.03 2.04 2.10 213 2.14
t B |t ElE 1.97 1.96
£ B MK H|*& 1.92 1.94 1.92 1.94 1.97 1.98 1.96 1.99
AN 1 N W|ET 2.14 2.07
W 5 | Blx 2.06
B W Z=E 2.10 2.04
M ETN M 1.97 1.97 1.95 1.96 1.96 1.99 2.00 1.99 2.05 2.06




4 BBHEHHARIEROEMAEHEROEFEL
() ZFEEFR (FF191E)

AT BER & £ F ¥ {E (ppm)
W35 | p 1 | T AR22 R | FRR234E | T RL2AGE I | AR5 | T AR26 5 | FRR274E | T AL2B4EIE | 206 | T RRI0EE
& R HER & & 0027 | 0028 0026] 0026| 0026| 0025] 0023]| 0020 0020 0018
& R W|(EE B |& 0032| 0030 0027| 0026| 0023 o0028| 0031 0032 | 0028 0027
% R w|EmE T [#x| o0020| o0020] o019 o0019| 0018
£ R wW|EW B [ 0006 | 0006| 0005| 0005| 0005
Famm|(E)GeH & 0030 | 0028] 0022| 0022 0020 o0019| o0017| o016| o0016| 0015
(2) ZEEEE (1 BHEHEDERISWIE) (BBiEE% . 0. 04ppm~0. 06ppmLL )
T HER A& 1B FEEDEMRIS%IE (ppm)
35 | po 1 G| T AR 22 %R FE | T AR234F | P RL2A G I | AR5 EE R | T AR26 5 | T AR27 4| T AL2B4E I | 29I | T RRI0EE
2 R m|ER & |& 0.041 0040 | 0041 0039 | 0037 0035| 0036| 0029| 0032] 0027
2 R W@ B |& 0047 | 0043 0041 0.041 0035| 0049 0049| o0052| 0047 0046
4 R w|(Em ;T [T | 0036| 0037 0033| 0034 0031
£ R w|Ew B |E 0.011 0.011 0009 | 0010| 0009
o mim|(E)FeH & 0054| 0050 0042| 0038| 0033| 0035| 0031 0.031 0035 | 0028

Q) —FEEFR (FFI9fE)

| mes |PE E % B {8 (om)
el | ot 4 e | FRio2 4 e | Trios i | Erkoate i | Erkos s e | Erkoe4 e | FR274 B | ERi284F B | FRi294F B | E ARSI
€ R m[BEH B & 0.028 0.026 0.023 0.021 0.022 0.019 0.017 0.014 0.013 0.010
€ R m[(B)F BT @& 0.041 0.033 0.029 0.022 0.020 0.027 0.027 0.026 0.021 0.019
£ iR m|(B)#& T |#T 0.011 0.011 0.010 0.010 0.008
& R W)W # | 0.003 0.002 0.003 0.002 0.002
Famm|(B)E4a [E 0.024 0.029 0.029 0.026 0.023 0.021 0.017 0.015 0.015 0.013

(4) ZFEALY (FFHIE)

T B & £ F ¥ {E (ppm)
ik | o1 e | T2 4 B | ERi2a R | ERioate s | FRios R | ERi2e | ERi21E | TRi2sE | TR0 | a0 RE
£ R m|BX B |[& 0.055 0.054 0.049 0.048 0.048 0.043 0.040 0.035 0.033 0.029
£ iR m|(B)F B @& 0.072 0.063 0.056 0.048 0.044 0.054 0.058 0.058 0.050 0.046
£ R m|(B)#& I |#T 0.031 0.032 0.029 0.029 0.026
& R W)W # |[&F 0.009 0.008 0.008 0.007 0.007
Famm|(B)EF4a [E 0.053 0.057 0.051 0.048 0.042 0.040 0.034 0.031 0.031 0.028

(6) —FibmE (FFH{E)

T BER A& £ OFE ¥ fE (ppm)
el | piot 4 e | TRro2 4 e | Trios i | Erkoatr i | Erkos s i | Erkoe4 | FR274E B | FR284E FE | FR294F B | FRRS0ERE

£ R H|ER B & 0.6 0.6 0.6 0.6 0.5 0.5 0.4 0.4 0.4 0.3
& R W(@EE B & 0.9 0.9 1.0 1.0 0.8 0.8 0.8 0.9 0.7 0.7
& R W@k T |%T 0.4 0.4 0.4 0.4 0.3
& R W(Ew ® | 0.2 0.2 0.2 0.2 0.2
R (BN R |E 0.3 0.3
Bamm|(E)FaH |[1E 0.4 0.5 0.4 0.4 0.4 0.4 0.3 0.3 0.2 0.2

6) —BbixF (1 HEFHIEDER 2 %ERIME) (GREE%E . 10ppmLl T)

T AR =1 1B FEHEDE/M2%RSME (ppm)

shisl a0t 4 e | T Rio2 4 B | T rios i | Erioat i | Erkos s i | Er264 | FR274E B | FRi284E FE | FRR294E B | FAES0EfE
£ R WER & (& 1.1 1.0 1.0 0.9 038 0.7 0.6 05 05 0.5
® R W[(B)A BT (A 14 1.6 1.9 1.8 1.6 1.7 1.6 1.7 1.2 1.3
® R m[(BEk I (£T 0.6 0.7 0.6 0.6 0.5
€ R ml(BW # |[&F 0.4 0.3 0.3 0.3 0.3
N N ] (4= DL/ A VN -] 0.5 0.6
Famm|(B)EF 4T [F 0.7 0.7 0.7 0.6 0.6 0.6 0.5 0.5 0.4 0.3




() FEMPIRYE (FEFEHE)
T — £ OE 1 B (mg/md)
W | o1 | TRio25 R | TriossE | Trioats | Triostrs | Erioetris | Eriora i | Eriostr i | Erioot i | ErsossE

& R m|ER B & 0.016 0.016 0.015 0.016 0.016 0.015 0.015 0.013 0.012 0.013
& R W|(E)H BB 0.025 0.028 0.029 0.031 0.025 0.029 0.026 0.025 0.019 0.020
£ R W|(EDEE T |#ET 0.017 0.017 0.018 0.018 0.018
£ R W|(EWw B OE 0.013 0.012 0.013 0.012 0.012
Famm|(B)Had |E 0.019 0.019 0.020 0.020 0.020 0.018 0.018 0.017 0.015 0.014

(8) FHHFRYE (1B FEDER 2 %kriME)

(GEEE%E - 0. 10mg/m’LLF)

_— — 1B EHEDERI2%RIME (mg/m3)
W | o | Trio2eEr | Trioser | Taioass | Taiose | Eaiets | Eaiorak | Eriose ik | Eaoos ik | EasoE
& R W|ER ® |& 0.037 0.046 0.035 0.038 0.048 0.036 0.038 0.032 0.028 0.031
& R W|(B)A BT |E 0.058 0.066 0.078 0.090 0.081 0.072 0.071 0.067 0.046 0.046
& R W|(E)E I |#ET 0.042 0.047 0.039 0.045 0.058
£ R W|(Ew ® | 0.038 0.034 0.032 0.031 0.033
Bamm|(@)Fad & 0.044 0.050 0.043 0.047 0.060 0.042 0.045 0.036 0.034 0.035
9) MMRIFRYE (EFHIE) (BIEE#E 154 g/mLT)
AT B A& £ F ¥ B (ug/md)
g | g1 e | T2 e | ERos s e | ERoasm e | ERos e | ERoe e | R 27 e | ERos R | 20 R | ERiz0E RE
& R W(Ew ® |E 10.2 8.6 7.1 7.3 85
Bamm|(ENFam|E 15 12.8 115 10.1 10.9 9.9
(10) #uhEIFHRYE (1 BEHIBEOFRII8%IE) (BiER%  3Bug/mUT)
wm | axs |PE 1BFHEDERI8%IE (1 g/m3)
WU | o1 | TR0 | FRR20 R | PRI | F RS IE | F A6 | FRl27 R | PR8I | TR 29 | FRERE
£ R B & |E 28.8 250 19.5 20.0 239
Famm|(E)Fam|E 38.2 34.1 28.7 23.2 28.5 273
(1) FEA2 viibkFE (FEFHIE)
- AES A £ E ¥ fE (ppmC)
Wil [ wror s | Eroom | Taosem | Troasrr | Trose | Troess | ThoraE| Trosai | Tr2osi | TrsosiE
£ R mlE)R & |& 0.16 0.18 0.14 0.13 0.14 0.13 0.13 0.13 0.12 0.12
(12) EAR UikibKFE B~BFIZETEEFHIE)
- axs | BE 6~9RFICH1TBHEFHE (ppmO)
WA | T4 | Trioo | TrioskE | Trioaks | Eriosts | Erioetris | Erorsis | Erostr i | Erootr i | Ertsoss
£ R mlE)R & |& 0.14 0.17 0.13 0.12 0.12 0.12 0.12 0.11 0.11 0.10
(13) A5y (EFHIE)
- — £ E ¥ fE (ppmC)
W | Frioi4 | Trioof | TrioskE | Trioaks | Eriosts | Erioetris | Erors s | Erostr i | Erootr i | Ertsos s
£ R mlE)R & B 1.89 1.89 1.88 1.89 1.92 1.93 1.94 1.94 1.94 1.94
(14) ZidbkFE (FEFEHE)
- i £ E 1 fE (ppmC)
W [ Epgoi e | Erooss | Taostre | Taoaters | Taostei | Taoeis | TaovaE | Taosh | Taoof | Tk
£ R M|EX & |& 2.06 2.07 2.02 2.02 2.06 2.06 2.07 2.07 2.06 2.06




